Solve the solution of y"(X) + 3y'(X)+ 2y(Xx) = 0.
1

y"(x)+3y(x) +2y(x) =0 P (y"(x)+y'(x)+2(y'(¥) +y(x)) =0
F(x) = y'(x) + y(x)

P (y'(x)+y' () +2(y'(x) +y(x) = f'(x)+2f(x) =0
f(X)=c, +CcX+C, X + X’ +xxtc X" +C X" +C_ X" +x

P f'(X)=c +2cx+xxtnc X' +(n+c X +(n+2)c X" +x0
f'(X) +2f(X) =(c, +2c,x+x0¢ nc X" +(N+1)c X +(n+2)c, X" +x09+

2(c, +CX+C,X*+CX° +206 C X' +C_ X" +C, X" +%9 =0

P c+2c,=0 2c,+2c=0 3c,+22,=0..nc +2c,=0
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FO)=y(x)+y(x) P y'(x)+ y(x)=ce™
y(X) =a, +ax+a,x +ax +xta x" +3a,,X" +a, X" +x0
P y'(X) =a +2a,x+xxna X" +(n+a x"+(n+2a,,xX" +x0
y'(x) + y(x) = (&, +2a,x+xna X" +(n+Da X +(n+2)a, X" +x0 +
(a, +ax+ax’ +xx-a X' +a X" +a X" +%0
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2
y(x) =€ b y'(x)=s™ and y"(x)=s€"
y"(x) +3y'(x)+ 2y(x) = 0

P (s°+3s+2)e*=0

P s°+3s+2=0
b s=-1 -2

P y(x)=¢e", e~

P y(x)=me”" +ne”™



L {y(x)} =Y(s) P L {y'(¥)}=sY(s)- y(0)
b L{y"(Q}=sY(s)- y(0)- y'(0)
y"(3) +3y'(X)+ 2y(x) =(s*Y(s) - sy(0)- y'(0))+3(sY(9)- ¥(0)) +2Y(s) =0

b (s*+3s+2)Y(s)- (s+3)y(0)- y'(0)=0

b Y(s) = Sz(f;i YO+ V')
= (éi;)aila YO+ 5 2s42 Y ©
:si+1 (0)+§esil izg(y(0)+ y'(0)
:S_;L_l(Zy(O) +y'(0)+——(- y(0)- y'(0)

y(x) =L {Y(s)} =(2y(0) + y'(0))e* +(- y(0)- y'(0))e” =me* +ne™

A:y(X) =me”* +ne™



